Le Châtelier’s Principle
1. H2(g) + I2(g)) (( 2HI(g)
H = -40 kJ/mol


Which direction will the reaction shift if..

a) more iodine is added?

b) HI is removed?

c) Heat is removed?

d) Pressure is increased?

2. 2SO2(g) + O2(g)) (( 2SO3(g)
H = -20 kJ/mol 

Which direction will the reaction shift if..

a) Remove SO2?

b) Add Ca which binds to SO3?

c) Cool the container?

d) Decrease pressure?
3. Tell the color change.  NO2 is brown and N2O4 is red.


N2O4  (( 2NO2
a) Remove N2O4?

b) Add NO2?

c) Cool the chamber?

d) Increase pressure?

e) Increase volume?

f) Add He?

4.  Tell the color change.  Fe+3 is orange and Cu+2 is blue.
2Fe+3(aq) + CuO(s) (( 3Cu+2(aq) + Fe2O3(a)
H = +50 kJ

a) Add more Cu+2?

b) Add heat?

c) Cl- is added which binds to Fe+3 forming solid FeCl3?

d) OH- is added which binds to Cu+2?

5. Tell the color change. Co(NH3)6+3(aq) is yellow and Co(NH3)5Cl+2(aq) is purple and Cl- is clear.

Co(NH3)6+3(aq) + Cl-(aq) (( Co(NH3)5Cl+2(aq) + NH3(aq)
a) Cl- is added?

b) Co(NH3)6+3 is added?

c) Heat is added?

d) NH3 is removed?

Explain why the color changes below will occur.
a) If Pb+2 is added, the color turns yellow.

b) If OH- is added, the color turns purple.

c) H+ is added, creating NH4+1.
